

August 30, 2022

Stephanie Kleiber, P.E. TxDOT Aviation Division 6230 E. Stassney Lane Austin, Texas 78744

Re: San Marcos Regional Airport

Taxiway C Improvements TxDOT CSJ 2214SMRCO

Recommendation of Award - Rev 1

Dear Ms. Kleiber

Bids were received for the "Taxiway C Improvements" project at the Texas Department of Transportation (TxDOT) Aviation Division offices at 2:00PM on July 7, 2022. The bids have been checked for accuracy and for compliance with the contract documents. A tabulation of the bids received is enclosed with this letter.

A total of (5) bids were received on the project. Zachary Construction Corporation submitted the low bid for the project in the amount of \$4,832,999.67 for Base Bid, \$3,000.00 for Additive Alternate I, and \$66,348.00 for Additive Alternate II. The Engineer's Opinion of Probable Cost was \$4,778,730.00 for Base Bid, \$5,800.00 for Additive Alternate I, and \$38,800.00 for Additive Alternate II.

We believe that the bid submitted by Zachary Construction Corporation represents a good value for the TxDOT Aviation Division and City of San Marcos. If TxDOT Aviation Division agrees the bid package submitted by Zachary Construction Corporation is responsive and contingent upon approval of funding by TxDOT Aviation, we recommend that the construction contract for the "Taxiway C Improvements" project be awarded to Zachary Construction Corporation.

Please call me if you have any questions.

Sincerely,

GARVER, LLC

Philip Huntley, P.E. Project Manager

Attachments: Bid Tabulation

TxDOT Bid Summary Sheet (TxDOT CSJ 2214SMRCO)

SAN MARCOS REGIONAL AIRPORT TAXIWAY C IMPROVEMENTS (TXDOT CSJ 2214SMRCO) BID OPENING: JULY 7, 2022; 2:00 PM

			BID SUMMARY			
DESCRIPTION	ENGINEER'S ESTIMATE TOTAL	ZACHRY CONSTRUCTION CORPORATION	CAPITAL EXCAVATION	J3 COMPANY, LLC	HEAD, INC.	JORDAN FOSTER CONSTRUCTION, LLC
BASE BID - TAXIWAY C IMPROVEMENTS	\$4,778,730.00	\$4,832,999.67	\$6,090,403.25	\$6,528,875.00	\$6,753,934.99	\$6,855,325.00
SUBTOTAL BASE BID	\$4,778,730.00	\$4,832,999.67	\$6,090,403.25	\$6,528,875.00	\$6,753,934.99	\$6,855,325.00
ADDITIVE ALTERNATE I: LED UPGRADES & ELECTRICAL VAULT IMPROVEMENTS	\$5,800.00	\$3,000.00	-\$2,870.00	\$3,000.00	\$711.45	-\$10,400.00
ADDITIVE ALTERNATE II: CHANGE FROM SILICONE TO COMPRESSION JOINT SEAL	\$38,800.00	\$66,348.00	\$135,800.00	\$59,752.00	\$59,752.00	\$58,200.00
TOTAL BASE BID + ADD ALT 1	\$4,784,530.00	\$4,835,999.67	\$6,087,533.25	\$6,531,875.00	\$6,754,646.44	\$6,844,925.00
TOTAL BASE BID + ADD ALT I + ADD ALT II	\$4,823,330.00	\$4,902,347.67	\$6,223,333.25	\$6,591,627.00	\$6,814,398.44	\$6,903,125.00
FAA GRANT	\$5,260,000.00					

SAN MARCOS REGIONAL AIRPORT TAXIWAY C IMPROVEMENTS (TXDOT CSJ 2214SMRCO) BID TABULATION - BASE BID BID OPENING: JULY 7, 2022; 2:00 PM

ZACHRY CONSTRUCTION JORDAN FOSTER **ENGINEER'S ESTIMATE CAPITAL EXCAVATION** J3 COMPANY, LLC CONSTRUCTION, LLC CORPORATION HEAD, INC. ITEM SPEC. **ESTIMATED** UNIT UNIT UNIT UNI^{*} DESCRIPTION UNIT **PRICE AMOUNT** PRICE AMOUNT **AMOUNT** PRICE **AMOUNT** PRICE **AMOUNT PRICE AMOUNT** NO. NO. QUANTITY PRICE SS-120-3.1 | CONSTRUCTION SAFETY AND SECURITY | L.S. \$271,000.00 \$271,000.00 \$185,505.59 \$185,505.59 \$188,000.00 \$188,000.00 \$300,000.00 \$300,000.00 \$445,448.04 \$445,448.04 \$600,000.00 \$600,000.00 LOCKOUT/TAGOUT AND CONSTANT SS-300-5.1 CURRENT REGULATOR CALIBRATION L.S. \$5.000.00 \$5.000.00 \$8,000.00 \$8.000.00 \$8,300.00 \$8.300.00 \$8,000.00 \$8,000.00 \$12,150.00 \$12.150.00 \$9,400.00 \$9,400.00 PROCEDURES 3 ELECTRICAL VAULT MODIFICATIONS, SS-300-5.2 L.S. \$30,000.00 \$50,000.00 \$50,000.00 \$52,000.00 \$52,000.00 \$50,000.00 \$50,000.00 \$68,647.50 \$68,647.50 \$59,000.00 \$59,000.00 \$30,000.00 450A SERVICE 4 L-828, 20 kW, LIGHTING REGULATOR, SS-300-5.4 EACH \$28,000.00 \$28,000.00 \$28,000.00 \$28,000.00 \$29,200.00 \$29,200.00 \$28,000.00 \$28,000.00 \$47,405.25 \$47,405.25 \$32,000.00 \$32,000.00 1 5 EXISTING STAKE MOUNTED EDGE LIGHT SS-301-5.1 EACH 30 \$100.00 \$3,000.00 \$225.00 \$6,750.00 \$234.00 \$7,020.00 \$225.00 \$6,750.00 \$189.00 \$5,670.00 \$300.00 \$9,000.00 AND ASSOCIATED PULLBOX, REMOVED 6 EXISTING BASE MOUNTED GUIDANCE EACH SS-301-5.2 6 \$350.00 \$2,100.00 \$550.00 \$3,300.00 \$570.00 \$3,420.00 \$550.00 \$3,300.00 \$1,128.60 \$6,771.60 \$700.00 \$4,200.00 SIGN, REMOVED EXISTING LIGHTING REGULATOR, SS-301-5.3 \$550.00 \$1,633.50 EACH \$3,000.00 \$3,000.00 \$550.00 \$550.00 \$570.00 \$570.00 \$550.00 \$1,633.50 \$900.00 \$900.00 1 REMOVED SS-310-5.1 TEMPORARY AIRFIELD LIGHTING \$5,000.00 \$15,000.00 \$15,000.00 \$15,600.00 \$15,600.00 \$15,000.00 \$25,000.00 8 L.S. \$5,000.00 \$15,000.00 \$21,803.85 \$21,803.85 \$25,000.00 CONTRACTOR QUALITY CONTROL C-100-14.1 L.S. \$30,000.00 \$30,000.00 \$125,000.00 \$125,000.00 \$194,000.00 \$194,000.00 \$200,000.00 \$200,000.00 \$353,178.72 \$353,178.72 \$220,000.00 \$220,000.00 PROGRAM (CQCP) TEMPORARY EROSION CONTROL LS \$30,000.00 \$75,401.68 \$40,000.00 \$26,970.92 10 C-102-5.1 \$30,000.00 \$75.401.68 \$13.200.00 \$13.200.00 \$40.000.00 \$26,970.92 \$20,000.00 \$20,000,00 11 C-105-6.1 MOBILIZATION LS \$367,000.00 \$367,000.00 \$450,000.00 \$450,000.00 \$285,000.00 \$285,000.00 \$460,000.00 \$460,000.00 \$652,986.92 \$652,986.92 \$680,000.00 \$680,000.00 12 P-101-5 1 CONCRETE PAVEMENT REMOVAL (6.5") 13.500 \$20.00 \$270.000.00 \$35.00 \$472.500.00 \$18.10 \$244.350.00 \$25.00 \$337.500.00 \$162.540.00 \$337,500.00 S.Y. \$12 04 \$25.00 13 P-101-5.2 ASPHALT PAVEMENT REMOVAL (2-3") S.Y. 3,400 \$10.00 \$34,000.00 \$7.00 \$23,800.00 \$9.50 \$32,300.00 \$10.00 \$34,000.00 \$5.20 \$17,680.00 \$9.00 \$30,600.00 P-152-4.1 UNCLASSIFIED EXCAVATION 14 CY \$17.00 \$96,730,00 \$12 574 90 \$30.00 \$170,700,00 \$227 600 00 \$39.22 \$223 161 80 \$113 800 00 5 690 \$2 21 \$40.00 \$20.00 15 P-152-4.2 UNSUITABLE EXCAVATION C.Y. 800 \$10.00 \$8.000.00 \$22.90 \$18.320.00 \$38.00 \$30,400.00 \$40.00 \$32,000.00 \$43.27 \$34.616.00 \$14.00 \$11,200.00 P-155-8.1 LIME-TREATED SUBGRADE (12") 16 S.Y. 20.900 \$15.00 \$313,500.00 \$12.00 \$250.800.00 \$18.15 \$379.335.00 \$22.00 \$459.800.00 \$20.07 \$419.463.00 \$10.00 \$209,000.00 17 P-155-8.2 LIME TON 910 \$200.00 \$182,000.00 \$310.35 \$282,418.50 \$300.00 \$273,000.00 \$300.00 \$273,000.00 \$519.08 \$472,362.80 \$285.00 \$259,350.00 CEMENT-TREATED BASE COURSE (5") \$1,070,600.00 18 P-304-8.1 S.Y. 20,200 \$35.00 \$707,000.00 \$35.00 \$707,000.00 \$53.00 \$45.00 \$909,000.00 \$36.43 \$735,886.00 \$45.00 \$909,000.00 19 ASPHALT MIXTURE SURFACE COURSE P-403-8.1 TON 13 \$250.00 \$3,250.00 \$200.00 \$2,600.00 \$400.00 \$5,200.00 \$650.00 \$8,450.00 \$1,290.29 \$16,773.77 \$1,000.00 \$13,000.00 PG 76-16 (3") PORTLAND CEMENT CONCRETE 20 P-501-8.1 S.Y. \$2,134,000.00 \$1,648,030.00 \$131.00 \$135.00 \$130.37 \$2,529,178.00 \$2,735,400.00 19,400 \$110.00 \$84 95 \$2,541,400.00 \$2,619,000.00 \$141.00 PAVEMENT (11") 21 PAVEMENT MARKINGS WITH P-620-5.1 S.F. \$8.00 \$4.39 \$4.00 4.700 \$1.50 \$7,050.00 \$5.00 \$23,500.00 \$5.10 \$23,970.00 \$37,600.00 \$20,633.00 \$18,800.00 REFLECTIVE MEDIA PAVEMENT MARKINGS WITHOUT 22 P-620-5.2 S.F. 9 600 \$1.50 \$14,400.00 \$5.00 \$48,000.00 \$5 10 \$48,960.00 \$8.00 \$76,800.00 \$2.76 \$26,496.00 \$2 00 \$19,200.00 REFLECTIVE MEDIA 23 P-620-5.3 S.F PAVEMENT MARKING REMOVAL 3,200 \$1.00 \$3,200.00 \$3.00 \$9,600.00 \$3.05 \$9,760.00 \$5.00 \$16,000.00 \$11.40 \$36,480.00 \$3.00 \$9,600.00 24 T-901-5.1 SEEDING A.C. \$5,000.00 \$10,000.00 \$2,500.00 \$5,000.00 \$6,600.00 \$13,200.00 \$5,000.00 \$10,000.00 \$6,347.06 \$12,694.12 \$23,000.00 \$46,000.00 25 T-904-5.1 SODDING S.Y. 1.800 \$27.000.00 \$10.68 \$19.224.00 \$40.75 \$73.350.00 \$8.00 \$14,400.00 \$9.88 \$17.784.00 \$13.75 \$24,750.00 \$15.00 26 TRENCHING FOR DIRECT-BURIED ΙF \$3,575.00 L-108-5.1 275 \$9.00 \$2,475.00 \$11.00 \$3,025.00 \$11.45 \$3,148.75 \$11.00 \$3,025.00 \$10.13 \$2,785.75 \$13.00 CABLE, 18-INCH MINIMUM DEPTH 27 NO. 8 AWG, 5 kV, L-824, TYPE C CABLE, \$34,210.00 L-108-5.2 INSTALLED IN TRENCH, DUCT BANK OR L.F. 11,000 \$1.35 \$14,850.00 \$2.50 \$27,500.00 \$2.60 \$28,600.00 \$2.50 \$27,500.00 \$3.11 \$4.00 \$44,000.00 CONDUIT 28 NO. 6 AWG, SOLID, BARE COPPER COUNTERPOISE WIRE, INSTALLED, L-108-5.3 ABOVE THE DUCT BANK OR CONDUIT, L.F. \$7,125.00 \$2.50 \$14,250.00 \$2.60 \$14,820.00 \$2.50 \$14,250.00 \$3.38 \$19,266.00 \$4.00 \$22,800.00 5,700 \$1.25 INCLUDING CONNECTIONS/TERMINATIONS 29 CONCRETE ENCASED ELECTRICAL \$12,600.00 L-110-5.1 ΙF \$72.90 \$13,122.00 \$70.00 \$12,600.00 \$74.25 \$13,365.00 \$15,300.00 180 \$45.00 \$8,100.00 \$70.00 \$85.00 DUCT BANK 3-WAY 2"C 30 NON-ENCASED ELECTRICAL DUCT L-110-5.2 1 F 100 \$18.00 \$1,800.00 \$60.00 \$6,000.00 \$62.50 \$6,250.00 \$60.00 \$6,000.00 \$45.90 \$4,590.00 \$75.00 \$7,500.00 BANK 3-WAY 2"C 31 NON-ENCASED ELECTRICAL CONDUIT, 1-L-110-5.3 1 F 4,400 \$7.00 \$30,800.00 \$18.00 \$79,200.00 \$18.75 \$82,500.00 \$18.00 \$79,200.00 \$16.54 \$72,776.00 \$25.00 \$110,000.00 WAY 2"C



							ZACHRY (CONSTRUCTION							JORD	AN FOSTER
					ENGINEER	R'S ESTIMATE	COR	PORATION	CAPITA	L EXCAVATION	J3 CC	OMPANY, LLC	HE	AD, INC.	CONST	RUCTION, LLC
ITEM	SPEC.			ESTIMATED	UNIT											
NO.	NO.	DESCRIPTION	UNIT	QUANTITY	PRICE	AMOUNT										
32		NON-ENCASED ELECTRICAL CONDUIT, 1-														
	L-110-5.4	WAY 2"C, IN EXISTING ASPHALT	L.F.	110	\$15.00	\$1,650.00	\$30.00	\$3,300.00	\$31.25	\$3,437.50	\$30.00	\$3,300.00	\$74.25	\$8,167.50	\$35.00	\$3,850.00
		PAVEMENT														
33		ELECTRICAL JUNCTION CAN PLAZA,														
	L-115-5.1	THREE CANS WITH DRAINS AND	EACH	6	\$3,500.00	\$21,000.00	\$7,250.00	\$43,500.00	\$7,600.00	\$45,600.00	\$7,250.00	\$43,500.00	\$7,939.35	\$47,636.10	\$8,500.00	\$51,000.00
		APPURTENANCES, INSTALLED														
34	L-125-5.1	L-858 BASE MOUNTED, 2-MODULE	EACH	2	\$4,000.00	\$12,000.00	\$6,850.00	\$20,550.00	\$7,100.00	\$21,300.00	\$6,850.00	\$20,550.00	\$7,128.00	\$21,384.00	\$8,000.00	\$24,000.00
	L-125-5.1	GUIDANCE SIGN, INSTALLED	EACH	3	φ4,000.00	\$12,000.00	φ0,030.00	φ20,550.00	\$7,100.00	\$21,300.00	φ0,030.00	\$20,550.00	φ1,120.00	φ21,304.00	φο,000.00	\$24,000.00
35	L-125-5.3	L-858 BASE MOUNTED, 3-MODULE	EACH	4	\$5,000.00	\$20,000.00	\$8,400.00	\$33,600.00	\$8,800.00	\$35,200.00	\$8,400.00	\$33,600.00	\$9,018.00	\$36,072.00	\$9,800.00	\$39,200.00
	L-120-0.0	GUIDANCE SIGN, INSTALLED	EACH	4	\$5,000.00	\$20,000.00	\$6,400.00	φ33,000.00	φο,ουυ.υυ	\$35,200.00	φο,400.00	\$33,000.00	φ9,016.00	φ30,072.00	φ9,000.00	φ39,200.00
36	L-125-5.5	L-861T STAKE MOUNTED TAXIWAY	EACH	3	\$800.00	\$2,400.00	\$1,200.00	\$3,600.00	\$1,250.00	\$3,750.00	\$1,200.00	\$3,600.00	\$1,038.15	\$3,114.45	\$1,400.00	\$4,200.00
	L-125-5.5	EDGE LIGHT, INSTALLED	LACIT	3	φουυ.υυ	\$2,400.00	ψ1,200.00	ψ5,000.00	ψ1,230.00	ψ3,7 30.00	φ1,200.00	\$5,000.00	ψ1,030.13	ψ5,114.45	φ1,400.00	Ψ4,200.00
37	L-125-5.7	L-861T BASE MOUNTED TAXIWAY EDGE	EACH	59	\$1,200.00	\$70,800.00	\$1,900.00	\$112,100.00	\$1,980.00	\$116,820.00	\$1,900.00	\$112,100.00	\$1,977.75	\$116,687.25	\$2,200.00	\$129,800.00
	L-125-5.1	LIGHT, INSTALLED	EACH	39	\$1,200.00	\$70,000.00	\$1,900.00	\$112,100.00	φ1,900.00	\$110,020.00	φ1,900.00	\$112,100.00	φ1,911.13	\$110,007.25	φ2,200.00	\$129,000.00
38		L-861T BASE MOUNTED TAXIWAY EDGE														
	L-125-5.9	LIGHT, INSTALLED IN EXISTING	EACH	1	\$1,500.00	\$1,500.00	\$2,900.00	\$2,900.00	\$3,020.00	\$3,020.00	\$2,900.00	\$2,900.00	\$5,466.15	\$5,466.15	\$3,400.00	\$3,400.00
		ASPHALT PAVEMENT														
							-								-	
	TOTALO					£4 770 720 00		¢4 022 000 67		¢c 000 402 0E		¢6 500 075 00		¢6.752.024.00		PC DEE 20E 00
	TOTALS					\$4,778,730.00	=	\$4,832,999.67		\$6,090,403.25		\$6,528,875.00	=	\$6,753,934.99	:	\$6,855,325.00

Corrected Prices



SAN MARCOS REGIONAL AIRPORT TAXIWAY C IMPROVEMENTS (TXDOT CSJ 2214SMRCO) BID TABULATION -ADDITIVE ALTERNATE I BID OPENING: JULY 7, 2022; 2:00 PM

		BID OPENIN	G: JULY 7,	2022; 2:00 PM	ENGINEER	'S ESTIMATE	ZACHRY C	ONSTRUCTION	CAPITAL	LEXCAVATION	J3 CC	MPANY, LLC	HE	AD, INC.	ORDAN FOSTE	R CONSTRUCTION, LL
ITEM	SPEC.			ESTIMATED	UNIT		UNIT		UNIT		UNIT		UNIT		UNIT	
NO.	NO.	DESCRIPTION	UNIT	QUANTITY	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
1	SS-300-5.2	ELECTRICAL VAULT MODIFICATIONS, 450A SERVICE	L.S.	(1)	\$30,000.00	-\$30,000.00	\$50,000.00	-\$50,000.00	\$52,000.00	-\$52,000.00	\$50,000.00	-\$50,000.00	\$48,397.50	-\$48,397.50	\$59,000.00	-\$59,000.00
2	SS-300-5.3	ELECTRICAL VAULT MODIFICATIONS, 450A SERVICE	L.S.	1	\$28,000.00	\$28,000.00	\$50,000.00	\$50,000.00	\$52,000.00	\$52,000.00	\$50,000.00	\$50,000.00	\$47,877.75	\$47,877.75	\$55,000.00	\$55,000.00
3	SS-300-5.4	L-828, 20 kW, LIGHTING REGULATOR, INSTALLED	EACH	(1)	\$28,000.00	-\$28,000.00	\$28,000.00	-\$28,000.00	\$29,000.00	-\$29,000.00	\$28,000.00	-\$28,000.00	\$47,405.25	-\$47,405.25	\$32,000.00	-\$32,000.00
4	SS-300-5.5	L-828, 15 kW, LIGHTING REGULATOR, INSTALLED	EACH	1	\$26,000.00	\$26,000.00	\$25,000.00	\$25,000.00	\$26,000.00	\$26,000.00	\$25,000.00	\$25,000.00	\$34,533.00	\$34,533.00	\$27,500.00	\$27,500.00
5	L-125-5.1	L-858 BASE MOUNTED, 2-MODULE GUIDANCE SIGN, INSTALLED	EACH	(3)	\$4,000.00	-\$12,000.00	\$6,850.00	-\$20,550.00	\$7,100.00	-\$21,300.00	\$6,850.00	-\$20,550.00	\$7,128.00	-\$21,384.00	\$8,000.00	-\$24,000.00
6	L-125-5.2	L-858(L) BASE MOUNTED, 2-MODULE GUIDANCE SIGN, INSTALLED	EACH	3	\$4,500.00	\$13,500.00	\$6,850.00	\$20,550.00	\$7,100.00	\$21,300.00	\$6,850.00	\$20,550.00	\$7,128.00	\$21,384.00	\$7,800.00	\$23,400.00
7	L-125-5.3	L-858 BASE MOUNTED, 3-MODULE GUIDANCE SIGN, INSTALLED	EACH	(4)	\$5,000.00	-\$20,000.00	\$8,400.00	-\$33,600.00	\$8,800.00	-\$35,200.00	\$8,400.00	-\$33,600.00	\$9,018.00	-\$36,072.00	\$9,800.00	-\$39,200.00
8	L-125-5.4	L-858(L) BASE MOUNTED, 3-MODULE GUIDANCE SIGN, INSTALLED	EACH	4	\$5,500.00	\$22,000.00	\$8,400.00	\$33,600.00	\$8,800.00	\$35,200.00	\$8,400.00	\$33,600.00	\$9,018.00	\$36,072.00	\$9,500.00	\$38,000.00
9	L-125-5.5	L-861T STAKE MOUNTED TAXIWAY EDGE LIGHT, INSTALLED	EACH	(3)	\$800.00	-\$2,400.00	\$1,200.00	-\$3,600.00	\$1,250.00	-\$3,750.00	\$1,200.00	-\$3,600.00	\$1,038.15	-\$3,114.45	\$1,400.00	-\$4,200.00
10	L-125-5.6	L-861T(L) STAKE MOUNTED TAXIWAY EDGE LIGHT, INSTALLED	EACH	3	\$900.00	\$2,700.00	\$1,200.00	\$3,600.00	\$1,250.00	\$3,750.00	\$1,200.00	\$3,600.00	\$1,148.85	\$3,446.55	\$1,400.00	\$4,200.00
11	L-125-5.7	L-861T BASE MOUNTED TAXIWAY EDGE LIGHT, INSTALLED	EACH	(59)	\$1,200.00	-\$70,800.00	\$1,900.00	-\$112,100.00	\$2,080.00	-\$122,720.00	\$1,900.00	-\$112,100.00	\$1,977.75	-\$116,687.25	\$2,200.00	-\$129,800.00
12	L-125-5.8	L-861T(L) BASE MOUNTED TAXIWAY EDGE LIGHT, INSTALLED	EACH	59	\$1,300.00	\$76,700.00	\$2,000.00	\$118,000.00	\$2,080.00	\$122,720.00	\$2,000.00	\$118,000.00	\$2,207.25	\$130,227.75	\$2,200.00	\$129,800.00
13	L-125-5.9	L-861T BASE MOUNTED TAXIWAY EDGE LIGHT, INSTALLED IN EXISTING ASPHALT PAVEMENT	EACH	(1)	\$1,500.00	-\$1,500.00	\$2,900.00	-\$2,900.00	\$3,000.00	-\$3,000.00	\$2,900.00	-\$2,900.00	\$5,466.15	-\$5,466.15	\$3,400.00	-\$3,400.00
14	L-125-5.10	L-861T(L) BASE MOUNTED TAXIWAY EDGE LIGHT, INSTALLED IN EXISTING ASPHALT PAVEMENT	EACH	1	\$1,600.00	\$1,600.00	\$3,000.00	\$3,000.00	\$3,130.00	\$3,130.00	\$3,000.00	\$3,000.00	\$5,697.00	\$5,697.00	\$3,300.00	\$3,300.00
	TOTALS				=	\$5,800.00	=	\$3,000.00		-\$2,870.00		\$3,000.00	=	\$711.45		-\$10,400.00

Corrected Prices



SAN MARCOS REGIONAL AIRPORT TAXIWAY C IMPROVEMENTS (TXDOT CSJ 2214SMRCO) BID TABULATION - ADDITIVE ALTERNATE II BID OPENING: JULY 7, 2022; 2:00 PM

							ZACHRY	CONSTRUCTION							JORE	AN FOSTER
				_	ENGINEER	'S ESTIMATE	COI	RPORATION	CAPITA	AL EXCAVATION	J3 C0	OMPANY, LLC	Н	EAD, INC.	CONST	RUCTION, LLC
ITEM	SPEC.			ESTIMATED	UNIT		UNIT		UNIT		UNIT		UNIT		UNIT	
NO.	NO.	DESCRIPTION	UNIT	QUANTITY	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
1	P-501-8.1	PORTLAND CEMENT CONCRETE PAVEMENT (11") WITH P-605 JOINT SEALANT	S.Y.	(19,400)	\$110.00	-\$2,134,000.00	\$84.95	-\$1,648,030.00	\$131.00	-\$2,541,400.00	\$135.00	-\$2,619,000.00	\$130.37	-\$2,529,178.00	\$141.00	-\$2,735,400.00
2	P-501-8.2	PORTLAND CEMENT CONCRETE PAVEMENT (11") WITH P-604 COMPRESSION JOINT SEALANT	S.Y.	19,400	\$112.00	\$2,172,800.00	\$88.37	\$1,714,378.00	\$138.00	\$2,677,200.00	\$142.00	\$2,754,800.00	\$133.45	\$2,588,930.00	\$144.00	\$2,793,600.00
	TOTALS					\$38,800.00		\$66,348.00		\$135,800.00		\$135,800.00		\$59,752.00		\$58,200.00

Corrected Prices



TxDOT AVIATION BID RESULTS SUMMARY SHEET

Airport Name:	San Marcos Regional Airport	Bid Opening Date:	Jul 7, 2022
Project Scope:	Taxiway C Reconstruction	Bid Opening Time:	2:00 PM
TxDOT CSJ #:	2214SMRCO-00012	Bid Opening Location:	6230 E. Stassney Ln. Austin, TX 78744

Bidder	Bid Guarantee	Electronically Filled Out Signed in lnk	Addenda Acknowledged	Qualifications Submitted	HSP Submitted (State Funded Only)	Base Bid	Additive Alternate I	Additive Alternate II
Head Inc.	\boxtimes		\boxtimes			6753934.99	711.45	59752
Capital Excavation	\boxtimes	\boxtimes	\boxtimes	\boxtimes		6090403.25	-2870	135800
Zachry Construction Corporation	\boxtimes		\boxtimes	\boxtimes		4832999.67	3000	66348
Jordan Foster Construction LLC	\boxtimes		\boxtimes	\boxtimes		6855325.00	-10400	58200
J3 Company LLC	\boxtimes		\boxtimes	\boxtimes		6528875.00	3000	135800.00

Rev. 06/2019

Bid Opening Date:	Jul 7, 2022
Bid Opening Time:	2:00 PM

TxDOT AVIATION BID OPENING SIGN-IN SHEET

Airport Name:	San Marcos Regional Airport	Bid Opening Date:	Jul 7, 2022
Project Scope:	Taxiway C Reconstruction	Bid Opening Time:	2:00 PM
TxDOT CSJ #:	2214SMRCO-00012	Bid Opening Location:	6230 E. Stassney Ln. Austin, TX 78744

Number	Name	Phone	Company Name & Address
01	Kevin Gallagher		Head Inc 4477 E. Fifth Ave., Columbus, OH 43219
02	Tanner Ruckel		Jordan Foster 15603 N IH 35, Pflugerville, TX 78660
03	Online (Teams) Stephanie Kleiber		
04	Online (Teams) Cassidy Berenato		
05	Online (Teams) Weston Baros		
06	Online (Teams) Jason Sharpe		
07	Online (Teams) Jason Hebeler		
08	Online (Teams) Lynette Sanchez		
09	Online (Teams) Kirk Abbot		
10	Online (Teams) Tyler Farella		

Rev. 06/2019

TxDOT AVIATION BID OPENING SIGN-IN SHEET

Airport Name:	San Marcos Regional Airport	Bid Opening Date:	Jul 7, 2022
Project Scope:	Taxiway C Reconstruction	Bid Opening Time:	2:00 PM
TxDOT CSJ #:	2214SMRCO-00012	Bid Opening Location:	6230 E. Stassney Ln. Austin, TX 78744

Number	Name	Phone	Company Name & Address
01	Online (Teams) Jim Wimberley		
02	Online (Teams) Autry Claire		
03	Online (Teams) Jason Hebeler		
04			
05			
06			
07			
08			
09			
10			

Rev. 06/2019